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Introduction
[bookmark: _GoBack]During RAN#94bis-e meeting, it was agreed to define single requirement for CSI-RS based RRM measurement at least for the CSI-RS configuration {D=3 with PRBs ≥ 48} as below [1]. It is still open until now whether to define additional CSI-RS configuration. In this contribution, we provide our view on the aspect.
           · Define requirements for CSI-RS configuration with {D=3 with PRBs ≥ 48}. FFS whether to define requirements for {D=1 with PRBs ≥ 96}. 
· Not define additional CSI-RS based measurement requirement

Discussion
It has been agreed to define the requirement for {D=3 with PRBs ≥ 48}. However, a larger density means more resources are required for CSI-RS transmission, which brings signaling overhead and degrades the system performance. Density=1 is also likely to be configured in network deployment and needs to be taken into account when defining the requirement. 
From the simulation results shown in Fig.1, it is observed the accuracy performance under {D=1 with 96 PRBs} is very much similar with the result under {D=3 with 48 PRBs}, with only 0.1dB difference when 5 samples are assumed. Hence it is possible to apply the single requirement for the two sets of configurations. 
[image: ][image: ]
Figure 1 CSI-RS based measurement performance under 4GHz 15kHz SCS 
In addition, some company mentioned the CSI-RS measurement performance degradation due to sparser CSI-RS resource (D=1) cannot be compensated by using larger measurement bandwidth, especially for large SCS cases. We further run the simulation under 60kHz (previously it was 15kHz) for the two configurations. As seen from Fig.2, the results are still quite comparable, and we did not see the performance degradation for Density =1 over Density = 3 at 60kHz SCS. Therefore, the accuracy performance under {D=1 with 96 PRBs} and {D=3 with 48 PRBs} are comparable irrespective of the SCS conditions. It is proposed to define additional CSI-RS configuration with lower density {D=1 with PRBs ≥ 96} for the CSI-RS based measurement requirement. 
Observation#1: The accuracy performance under {D=1 with 96 PRBs} and {D=3 with 48 PRBs} are comparable irrespective of the SCS conditions. 
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Proposal1: It is proposed to define additional CSI-RS configuration {D=1 with PRBs ≥ 96} for the CSI-RS based measurement requirement. 
Conclusion
This contribution discussed whether to define additional CSI-RS configuration for the CSI-RS based RRM measurement requirement. The proposal is summarized as below: 
Observation#1: The accuracy performance under {D=1 with 96 PRBs} and {D=3 with 48 PRBs} are comparable irrespective of the SCS conditions. 
Proposal1: It is proposed to define additional CSI-RS configuration {D=1 with PRBs ≥ 96} for the CSI-RS based measurement requirement.
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